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1

[a]

[b]

[c]

[d]

Sol. [C]

(1920)
800 

2

[a]

[b]

[c]

[d]

Sol. [B]

3 1922 

[a]
[b]
[c]
[d]

Sol. [A]
1922 

4

[a]1919 

[b]

[c]

[d]

1. Bihar, Kashi and Gujarat Vidyapeeth were
established during which freedom
movement?

[a] Civil Disobedience Movement
[b] Quit India Movement
[c]  Non-cooperation movement
[d] Swadeshi Movement

Sol. [C]

During the Non-Cooperation Movement
(1920), government schools and colleges were
boycotted and 800 new national schools were
established. During this, Jamia Millia, Kashi
Vidyapeeth, Gujarat Vidyapeeth, Bihar
Vidyapeeth were also established.

2. Select the incorrect statements by examining
the following related to the non-cooperation
movement:
[a] The boycott of the courts was not as

successful as the boycott of educational
institutions.

[b] The picketing at the liquor shop was the
key point of the original plan.

[c] Rabindranath Tagore had opposed the
burning of foreign clothes.

[d]During this period the Prince of Wales
visited India.

Sol. [B]
There was picketing at the liquor shops during
the non-cooperation movement, but it was not
a part of the original plan.

3. Who informed Mahatma Gandhi about the
Chauri-Chaura incident of 1922?
[a] Dashrath Prasad Dwivedi
[b] Bhagwan Ahir
[c]  Madan Mohan Malviya
[d] Rajkumar Shukla

Sol. [A]
The mob of Chauri-Chaura incident, 1922 was
led by Bhagwan Ahir and Dashrath Prasad
Dwivedi informed about this incident
through telegram to Gandhiji. The case of the
accused in this incident was fought by Madan
Mohan Malviya.

4. The Indian Sandhurst Committee (Skeen
Committee) is related to:
[a]From the review of the Diarchy

implemented under the Act of 1919.
[b] Indianisation of the Army
[c] From the investigation of the Jallianwala

Bagh massacre
[d] From the national flag
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Sol. [B]

1.

2.

3.

4.

5

1.

2.

[a] 1 [b] 2

[c] 1  2 [d] 1 2
Sol. [C]

1940 

6 (Simon go Back)

[a] [b]

[c] [d]
Sol. [D]

1928 
Simon go back 

7

[a]

[b]

[c]

[d]

Sol. [B]

Skeen Committee: It was formed under the
chairmanship of Lieutenant General Sir
Andrew Skeen, the Commander-in-Chief of
India for the Indianisation of the Army.

Its members:

1. Motilal Nehru

2. Mohammad Ali Jinnah

3. Pheroze Sethna

4. M. Ramachandra Rao
5. In the context of the August proposal, choose

the correct statement from the following-
1. In this proposal, there was a provision to

provide the status of Dominion States to
India.

2. In this resolution, for the first time, a
provision was made for the formation of a
Constituent Assembly for constitution
making by the Indian representatives.

[a]1 only [b] 2 only
[c] Both 1 and 2 [c] Neither 1 nor 2

Sol. [C]
In August 1940, Viceroy Linlithgow presented
a proposal in which provisions like status of
Dominion State, Constituent Assembly,
increase in the number of Indian members in
the Viceroy's Executive, etc. were mentioned.

6. Who among the following gave the slogan
‘Simon Go Back’?
[a]T. Prakasam [b] Khalikujjama
[c] Lala Lajpat Rai [d] Yusuf Mehar Ali

Sol. [D]
In the year 1928, when the Simon Commission
reached Bombay, black flags were shown and
a strike was also held with the slogans of
Simon go back.

7. With reference to the four point demands
accepted under the Delhi Resolution, which
of the following is incorrect:
[a] Joint election system should be adopted.
[b] There should be two-thirds seats resereved

for Muslims in the Central Legislature.
[c] Formation of three Muslim majority

provinces namely Sindh, Balochistan and
North-West Frontier Province.

[d] Seats should be reserved for Muslims in
the legislatures of Punjab and Bengal in
proportion to their population.
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Sol. [B]

8

[a]

[b]

[c]

[d]

Sol. [C]

9

1.

2.

3.

4.

[a] 1 3 [b] 1, 2 3

[c] 2, 3 4 [d]

Sol. [B]
12 1930 

1931 

10

1.

2.

3.

/

[a] 1 [b] 2 3

[c] 3 [d]

Sol. [B]

There should be one-third seats for Muslims
in the Central Legislature.

8. Choose the odd one out from the following
pairs related to the Civil Disobedience
Movement-

Location Leader

[a]Betul - Ganjan Korku

[b] Andhra Pradesh - Konda Vainkatappaya

[c] Sindh -  Swami Shraddhanand

[d] Bundelkhand - Daaku Mangal Singh

Sol. [C]

Swami Govindanand was the leader of the
civil disobedience movement in Sindh, but this
movement remained weak due to the
disinterest of Muslims in Sindh.

9. Which rulers of Rajasthan participated in the
first Round Table Conference?

1. Maharaja Ganga Singh (Bikaner)

2. Udaybhan Singh (Dhaulpur)

3. Jaisingh (Alwar)

4. Shatrusal (Kota)

[a]1 and 3 only [b] 1, 2  and 3 only

[c] 2, 3 and 4 only [d] All of the above

Sol. [B]

The first Round Table Conference was held
in London on 12 November 1930. Gangasingh
participated in the second round table
conference also held in 1931 AD.

10. Consider the following statements regarding
the participation of various sections in the
Civil Disobedience Movement-

1. There was wide participation of the
business class.

2. It was only in the North-West Frontier Province
that Muslims participated in large numbers.

3. Jamaate Ulama, Muslim Rashtriya Dal,
Khudai Khidmatgar, Ehsul Islam etc were
major Muslim organizations who
supported this movement.

The incorrect statement from the above is/are:

[a]1 only [b] 2 and 3 only
[c] 3 only [d] None of these
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Sol. [D]

11

1. 2.

3. 4.

[a] 2 4 1 3 [b] 1 4 3 2

[c] 2 4 3 1 [d] 1 3 2 4
Sol. [D]

1932 

22 1939 

1940 

1944 

12
[a]
[b]
[c]
[d]

Sol. [B]

1875 

13

1. 1866 

2.

3.

4.

[a] 1 2 [b] 1, 3 4

[c] 2 3 [d] 1, 2, 3 4

Sol. [D]
Muslims and intellectuals did not participate
widely in the civil disobedience movement,
while women, farmers, business classes played
their important role in a big way.

11. Arrange the following events of the National
Movement in chronological order and select
the correct option with the help of the codes
given below:
1. Communal Award 2. August offer
3. Liberation Day 4. Gandhi Jinnah Talks
[a] 2 4 1 3 [b] 1 4 3 2
[c] 2 4 3 1 [d] 1 3 2 4

Sol. [D]

In August 1932, the British government
decided to give separate electorates to Dalits,
this was called the Communal Award.
On December 22, 1939, when the Congress
state governments resigned, the Muslim
League etc. celebrated it as Liberation Day.
The August Offer was given by Viceroy
Linlithgow in the year 1940.
Gandhi-Jinnah talks were held in 1944 to
discuss the Rajagopalachari plan, which was
unsuccessful.

12. Who founded the “India League”?
[a] Devendra Nath Tagore
[b] Sisir Kumar Ghosh
[c] Surendra Nath Banerjee
[d] Anand Mohan Bose

Sol. [B]

The India League was founded by Sisir Kumar
Ghosh in 1875 AD.

13. Which of the following statements are correct
about the Deoband movement:

1. It started in Deoband in 1866.
2. One of its founders was Badaruddin Tyabji.
3. Its basic objective was to improve the

spiritual and moral condition of the
Muslims.

4. Deoband movement emphasized on
common nationalism.

Choose the correct answer.

[a] 1 and 2 [b] 1, 3 and 4
[c] 2 and 3 [d] 1, 2, 3 and 4
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Sol. [B]

1866

 

14

1.

2.

3.

4.

[a] 1 2 [b] 1, 2 3

[c] 2, 3 4 [d] 1, 2, 3 4

Sol. [D]

15

1935 

1.

2.

3.

[a] 3 [b] 1 2

[c] 1, 2 3 [d] 2 3

Sol. [C]

1 1935 

16

1. 125

2.

3.

[a] 1

[b] 2

[c] 3

[d]

Sol. [B]

Muhammad Qasim Nanotvi and Rashid
Ahmad Gangohi established an Islamic
seminary in Deoband in 1866 AD and the
Deoband movement started from here.

14. Consider the following persons-
1. Annie Besant
2. Lokmanya Tilak
3. Jawaharlal Nehru
4. Muhammad Ali Jinnah
Who among the above participated in the
Home Rule Movement?
[a] 1 and 2 [b] 1, 2 and 3
[c] 2, 3 and 4 [d] 1, 2, 3 and 4

Sol. [D]

Annie Besant and Lokmanya Tilak were the
founders of the Home Rule Movement.
Jawaharlal Nehru, Mohammad Ali Jinnah etc.
were associated with Annie Besant's Home
Rule Movement.

15. Which of the following statements is correct
about the Government of India Act, 1935?
1. Provision for Communal Representation
2. Establishment of Federal Court
3. Provincial Autonomy
[a] 3 only [b] 1 and 2
[c] 1, 2 and 3 [c] 2 and 3

Sol. [C]
The Government of India Act came into force
on 1 April 1935. In this provision was made for
provincial autonomy, diarchy at the center,
federal court and communal representation etc.

16. Select the correct statements regarding Alluri
Sitaram Raju-
1. Recently his 125th birth anniversary has

been celebrated.
2. He was related to Rampa rebellion or

Manyam rebellion.
3. He started the freedom movement in the

state of Andhra Pradesh.
[a] 1 only
[b] 2 only
[c] 3 only
[d] All of the above
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Sol. [D]
4 2022 

125

17
[a] IIT, [b] IIT, 
[c] IIT, [d] IIT, 

Sol. [B]

IIT 1951 

1952 

18

[a] [b]
[c] [d]

Sol. [A]

24 
1948 

19

1. 1960

2. 1964

3. 1974

4. 1954

[a] 4 [b] 1
[c] 3 [d] 2

Sol. [A]

(ONGC)
1956 

20

[a] 1963 [b] 1961
[c] 1964 [d] 1959

Sol. [A]

1963 

Sol. [D]
Recently, Prime Minister Narendra Modi
unveiled a bronze statue of Alluri Sitarama
Raju on 4 July 2022 in Andhra Pradesh on the
occasion of his 125th birth anniversary. All the
above statements are correct.

17. Which of the following is the first IIT
established in India?
[a]IIT, Mumbai [b] IIT, Kharagpur
[c] IIT, kanpur [d] IIT, madras

Sol. [B]
India's first IIT Kharagpur, which was
informally inaugurated by Maulana Abul
Kalam Azad in Calcutta in the year 1951.
In March 1952, Prime Minister Nehru laid the
foundation stone of its building in Kharagpur.

18. Where was the Central Leather Research
Institute established?
[a]Chennai [b] Kanpur
[c] Mysore [d] Agra

Sol. [A]
The Central Leather Research Institute was
established on April 24, 1948 in Chennai
and is the largest research institute in the
world.

19. Select the mismatched pair among the
following:

Institution Establishment year
1. Hindustan Teleprinter - 1960

Limited
2. Hindustan Aeronautics - 1964

Limited
3. National Fertilizers - 1974

Limited
4. Oil and Natural - 1954

Gas Corporation Limited
[a]4 only [b] 1 only
[c] 3 only [d] 2 only

Sol. [A]
Oil and Natural Gas Corporation Limited
(ONGC) was established in the year 1956 in
New Delhi.

20. In which year National Seeds Corporation
Limited was established?

[a]1963 [b] 1961

[b] 1964 [d] 1959

Sol. [A]

National Seeds Corporation Limited was
established in 1963 at New Delhi.
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21

[a] 14 7 
[b] 16 3 
[c] 14 2 
[d] 16 5 

Sol. [B]

14 5 
1956 

22

1.

2.
3.
[a] 3 [b] 2
[c] 1 [d]

Sol. [D]

10 

23.

1.

2.

3.

4.

[a] 1, 2, 3 [b] 4

[c] 1  4 [d] 3 4
Sol. [D]

1. 1819

2. (1817) 

3. (1825)

4.

21. How many states and union territories were
recommended by the Fazal Ali Commission?

[a]14 states and 7 union territories
[b]16 states and 3 union territories
[c] 14 states and 2 union territories
[d]16 States and 5 Union Territories

Sol. [B]

Accepting the recommendations of the Fazal
Ali Commission with some changes, 14 states
and 5 union territories were created (under
the State Reorganization Act of 1956).

22. Select the mismatched pair from following ?
Plan Profounder

1. Gandhian Planning - Acharya Shriman
Narayan Agarwal

2. Peolple's plan - M. N. Roy
3. Sarvodaya Yojana - Jayaprakash

Narayan
[a]3 only [b] 2 only
[c] 1 only [d] None of these

Sol. [D]
Acharya Shrimannarayan Agarwal claimed to
provide basic facilities for life to the people
in 10 years through 'Gandhian scheme'.
M.N. Roy's people's plan gave priority to
agriculture and manufacturing.
Jayaprakash Narayan's 'Sarvodaya Yojana'
was also based on the Gandhian model of
development.

23. Which one of the following is not an orga-
nization established by Raja Ram Mohan
Roy?
1. Vedanta College
2. British Unitarian Association
3. Banghit Sabha
4. Debating Club
[a] 1, 2, 3 [b] only 4
[c] 1 and 4 only [d] 3 and 4 only

Sol. [D]
Institutions established by Raja Ram Mohan
Roy -
1. Atmiya Sabha (1819)
2. Hindu College (1817) with the help of

Dutch watchmaker David Heyer
3. Vedanta College (1825)
4. British Unitarian Association
Organizations established by Henry Vivian
Derozio
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1.
2.
3.
4. 5. 

24.

1. 1867 
2.
3.
4.

[a] 1 2 [b] 2 3

[c] 3 4 [d] 1, 2 3
Sol. [D]

1867 

1.
2.
3.
4. N.G 

25.

[a]
[b]
[c]
[d]

Sol. [C]

26.

1. (1863)
2. (1864)
3. (1875)
4. (1888)
[a] 1 2 [b] 1, 3 4
[c] 1, 2 3 [d]

Sol. [D]
1920 

1888

1. Academic Association
2. Society for the Promotion and Acquisition

of General Knowledge
3. Anglo Indian Hindu Association
4. Banghit Sabha 5. Debating Club.

24. Examine the statements regarding Prarthana
Samaj.
1. It was established in 1867 in Madras.
2. It was established by the efforts of

Debendranath Tagore.
3. It is also called Brahmo Samaj of South India.
4. It opposed casteism and supported reforms

like widow remarriage.
The incorrect statement from the above is-
[a] 1 and 2 only [b] 2 and 3 only
[c] 3 and 4 only [d] 1, 2 and 3

Sol. [D]
It was established in Bombay in 1867 by the
efforts of Keshav Chandra Sen. its founding
members
1. Atmaram Pandurang
2. R.G. Bhandarkar
3. Mahadev Govind Ranade
4. N.G Chandavarkar
He opposed casteism, Sati Pratha and sup-
ported women’s education, widow marriage.
The Ved Samaj is called the Brahmo Samaj of
the South India.

25. Which organization and person was called
by Valentine Chirol as the father of Indian
unrest?
[a] Arya Samaj and Mohammad Ali Jinnah
[b] Aligarh Movement and Lala Lajpat Rai
[c] Arya Samaj and Bal Gangadhar Tilak
[d] Hindu Mahasabha and Sir Syed Ahmed Khan

Sol. [C]
26. Which organization were founded by Sir

Syed Ahmed Khan?
1. Muhammadan Literary Society (1863)
2. Scientific Society (1864)
3. Muslim-Anglo Oriental School (1875)
4. Rajbhakt Sabha (1888)
[a] 1 and 2 [b] 1, 3 and 4
[c] 1, 2 and 3 [d] All of the above

Sol. [D]
The Muslim Anglo Oriental School was later
transformed into the Aligarh Muslim
University in 1920 AD. The patriotic
association was established in 1888 AD. by Sir
Syed Ahmed Khan and Raja Shivprasad of
Banaras. It was  an anti-Congress organization.
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27.

[a]
[b]
[c]
[d]

Sol. [C]

1910 

28. 1929 

[a] 18 14 
[b] 15 14 
[c] 12 16 
[d] 14 18 

Sol. [D]
28 1929 

14 18 

29.

A. 1.
B. 2.
C. 3.
D. 4.

A B C D A B C D
[a] 1 2 4 3 [b] 3 1 2 4
[c] 2 1 4 3 [d] 4 3 2 1

Sol. [B]

1907 

1933 

1911

30.

[a]
[b]

[c]
[d]

27. Who founded Bharat Stree Mahamandal?
[a] Kamaladevi Chattopadhyay
[b] Annie Besant
[c] Saraladevi Choudharani
[d] Ramabai Ranade

Sol. [C]

The first independent organization formed
by a woman for women’s rights was formed
by Saraladevi Chaudharani in 1910 in
Allahabad.

28. How much was the marriageable age of a girl
and a boy determined by the Sharda Act of
1929?
[a] Girl 18 years and boy 14 years
[b] Girl 15 years and boy 14 years
[c] Girl 12 years and boy 16 years
[d] Girl 14 years and boy 18 years

Sol. [D]
The Act passed on 28 September 1929 fixed
the minimum age for marriage at 14 years for
a girl and 18 years for a boy.

29. Match the following-
Publisher Newspaper

A. Lala LajpatRai       1.  Abhudaya
B. Madanmohan Malviya 2. Harijan
C. Mahatma Gandhi 3. Vande Matram
D. Mohammad Ali 4. Comrade

A B C D A B C D
[a] 1 2 4 3 [b] 3 1 2 4
[c] 2 1 4 3 [d] 4 3 2 1

Sol. [B]
Vande Mataram newspaper was published by Lala
Lajpat Rai in Urdu language from Lahore.
Madan Mohan Malviya published Abhyudaya
newspaper in Hindi language from Varanasi in
1907.
Harijan newspaper was published by Mahatma
Gandhi in 1933 from Poona in Hindi language.
The Comrades newspaper was published by
Muhammad Ali in the English language from 1911.

30. Which is an incorrect statement regarding the
Indigo Movement?
[a] This movement was a non-violent movement.
[b] It is mentioned in Deenbandhu Mitra’s play

“Neel Darpan”.
[c] It was supported by Christian missionaries.
[d] In this, the main slogan of the peasants was

‘We want to be the subjects of Her Majesty
the Queen and only her.’
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Sol. [D]
1859-60 

31 1902 

[a] [b]
[c] [d]

Sol. [D]
1902 

32.

1.

2.

3.

4.

[a] 2, 3, 4 [b] 1, 2, 3
[c] [d] 1 3

Sol. [C]

33.

1. 1946 
2.

[a] 1 [b] 2
[c] 1 2 [d] 1 2

Sol. [D]
24 1946 

34.

[a]
[b]
[c]
[d]

Sol. [B]

Sol. [D]
In 1859-60, under the Dadni system, the
British merchants forced the farmers to
cultivate indigo compulsorily by giving an
advance amount.

31. Who was the chairman of the Indian
University Commission formed in 1902 AD?
[a] Charles Wood [b] Lord Macaulay
[c] W.W Hunter [d] Thomas Raleigh

Sol. [D]
A three-member University Commission was
set up in 1902 under the chairmanship of Sir
Thomas Raleigh. Its other members were Syed
Hussain Bilgrami and Gurudas Banerjee.

32. What were the characteristics of tribal
movements?
1. They were generally violent movements.
2. Generally these rebellions were in the

center of their tribe
3. They lacked modern weapons.
4. The whole society used to stand

considering the leader as the messiah.
Which of the above are correct statement?
[a] 2, 3, 4 [b] 1, 2, 3
[c] All of the above [d] 1 and 3

Sol. [C]
Generally these rebellions were in the center of
their own tribe and at the same time they were
violent and resorted to violence considering any
one leader as the messenger of God. Generally
did not consider everyone as their enemy. They
were cut off from the mainstream.

33. Choose the incorrect statement from the following
statements related to the Cabinet Mission-
1. This mission came to India in March, 1946.
2. Among the objectives of this mission, the

establishment of the Constituent Assembly
in India was the central point.

[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [D]
On March 24, 1946, a three-member commission
comprising Sir Stafford Cripps, Lord Patrick
Lawrence and A.V.Alexander came to India.
Both the above statements are correct.

34. The first Congressman who supported the
demand of Pakistan-
[a] Sardar Vallabhbhai Patel
[b] Chakraborty Rajagopalachari
[c] Tej Bahadur Sapru
[d] Rammanohar Lohia

Sol. [B]
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35. (1946)

1.
2.
3.
[a] 1 2 [b] 1
[c] 3 [d]

Sol. [A]
1946 HMS 

36.

A. 1. 1904
B. 2. 1942
C. 3. 1905
D. 4. 1926

A B C D A B C D
[a] 1 2 4 3 [b] 3 1 2 4
[c] 4 3 2 1 [d] 4 3 1 2

Sol. [C]
1926 

1905 

1942 

1904 

37.

1.
2. 22 1947 

[a] 1 [b] 2
[c] 1 2 [d] 1 2

Sol. [D]

1921 

22 1947 

Chakravarti Rajagopalachari was the first
Congressman who supported the demand for
a separate Pakistan.

35. The causes of the Royal Navy mutiny (1946)
included-
1. Racist discrimination
2. Case of Azad Hind Fauj
3. Demand for a separate Pakistan
[a] 1 and 2 [b] 1 only
[c] 3 only [d] All of the above

Sol. [A]
In February 1946, Indian sailors aboard the
Royal Navy ship Bhadai Talwar mutinied in
Bombay. The main causes of the rebellion
included racial discrimination, lower pay, poor
quality of food and the trial of the Azad Hind
Fauj.

36. Match the following-
Organization Establishment Year

A. Naujawan Sabha 1.  1904
B. Swadesh Bandhav 2.  1942

Samiti
C. Indian Independence 3.  1905

League
D. Abhinav Bharat 4.  1926

A B C D A B C D
[a] 1 2 4 3 [b] 3 1 2 4
[c] 4 3 2 1 [d] 4 3 1 2

Sol. [C]
The Naujawan Sabha was established in 1926
Lahore by Bhagat Singh, Yashpal etc.
The Swadesh Bandhav Samiti was founded in
1905 by Ashwini Kumar Dutt at Barisal.
The Indian Independence League was founded
in 1942 by Rash Behari Bose in Japan.
Abhinav Bharat was founded in 1904 by
V.D.Savarkar at Nashik.

37. Choose the incorrect statement from the
following regarding the Indian National Flag
“Tiranga”-
1. Its designer was Pingali Venkaiah.
2. It was officially declared the national flag

on 22 July 1947.
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [D]
Pingali Venkaiah was born in Andhra Pradesh.
At the behest of Mahatma Gandhi, he
designed the Indian national flag in 1921 after
studying the flags of different countries for
five years.
It was officially declared the national flag
during the Constituent Assembly meeting on
22 July 1947.
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38.

1.

2.

[a] 1 [b] 2

[c] 1 2 [d] 1 2
Sol. [C]

1928 

17 1928 

23 1931 

39.

1.

2.

[a] 1 [b] 2

[c] 1 2 [d] 1 2
Sol. [C]
40.

1. 8 1942 
2.
3.

[a] 1 [b] 2
[c] 3 [d]

Sol. [A]
8 1942 

9 1942 

38. Consider the following statements-
1. Hindustan Socialist Republic Association was

founded by Chandrashekhar Azad in Delhi.
2. Bhagat Singh was sentenced to death for

the crime of killing British police officer
Saunders.

Select the correct statement-
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [C]
Chandrashekhar Azad along with his various
comrades established the Hindustan Socialist
Republic Association in September 1928 at the
Ferozeshah Kotla ground in Delhi.
On 17 December 1928, British police officer
Saunders was murdered by Bhagat Singh and
other comrades. This murder is known as the
Lahore Conspiracy Case. As a result of the
conviction of this case, on March 23, 1931,
Bhagat Singh, Sukhdev and Rajguru were
hanged in Lahore Central Jail.

39. Consider the following statements-
1. The book "Bhavani Mandir" was written by

Barindra kumar Ghosh and Arvind Ghosh.
2. The book “Bandi Jeevan” was written by

Shachindra Nath Sanyal.
Select the correct statement.
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [C]
40. Choose the incorrect statement in the context

of Quit India Movement-
1. It started on 8th August, 1942.
2. Mahatma Gandhi gave the slogan of Do

or Die in this movement.
3. Operation Zero Hour was run in the Brit-

ish rule to suppress this movement.
[a] 1 only [b] 2 only
[c] 3 only [d] None of these

Sol. [A]
The British Quit India resolution was passed
on August 8, 1942 in the meeting of the
Congress Committee in Bombay under the
chairmanship of Maulana Azad. This proposal
was presented by Pt. Jawaharlal Nehru.
Quit India Movement started on August 9,
1942. Under Operation Zero Hour, all the
frontline leaders of the national movement
were either put under house arrest or arrested
in oreder to crush the movement.
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41.

[a]
[b]
[c]
[d]

Sol. [A]

42.

1.
2.
3.
4.

[a] 1 2 [b] 2 3
[c] 1 4 [d] 3 4

Sol. [A]

43. I II 

I II

A. 1.
B. 2.
C. 3.

D. 4.

A B C D A B C D
(a) 1 2 3 4 (b) 3 4 1 2
(c) 4 3 2 1 (d) 2 1 4 3

Sol. [B]

44.

[a] [b]
[c] [d]

Sol. [B]

41. In the Sultanate period, the term ‘Fawazil’
refers to-
[a] Surplus revenue remitted by Iqtadars to

the exchequer
[b] Agricultural Cess
[c] Controller of State Housing
[d] the head of the news and information sys-

tem of the state
Sol. [A]

In the Sultanate period, Fawazil refers to the
additional amount deposited by the Iqtadars
in the government treasury.

42. Which of the following construction works
were done by Qutbuddin Aibak?
1. Quwwat-ul-Islam Mosque
2. Adhai Din Ka Jhopra
3. Lal Mahal
4. Tomb of Sultan Garhi
Select the correct answer using the code given
below-
[a] 1 and 2 only [b] 2 and 3 only
[c] 1 and 4 only [d] 3 and 4 only

Sol. [A]
43. Match List-I with List-II and select the cor-

rect answer from the codes given below-
List-I List-II

(Monuments/Architecture) (Ruler)
A. Hazar Sutun Palace 1.Ibrahim Lodi
B. Bara Khamba 2.Feroz Tugulak
C. Sikandar Lodi's 3.Alauddin Khilji

Tomb
D. Kushk-i-Shikar 4.Muhammad bin

Tughlaq
A B C D A B C D

(a) 1 2 3 4 (b) 3 4 1 2
(c) 4 3 2 1 (d) 2 1 4 3

Sol. [B]
Hazar Sutun Palace was built by Alauddin
Khilji.

Bara Khamba was built by Muhammad bin
Tughluq and is considered a secular building.

44. Which one of the following works written
by Amir Khusrau describes the history of the
reign of Alauddin Khilji and is also known
as ‘Tarikh-i-Allai’?
[a] Mifata-ul-Futuh [b] Khazain-ul-Futuh
[c] Nuh Sepehar [d] Kiran-us-Saaden

Sol. [B]
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45. I II 

I II

A. 1.
B. 2.
C. 3.
D. 4.

A B C D A B C D
(a) 4 3 2 1 (b) 3 4 2 1
(c) 1 2 3 4 (d) 4 1 2 3

Sol. [B]

46.

1.

2.

[a] 1 [b] 2

[c] 1 2 [d] 1 2
Sol. [C]

•

•

•

47.

[a] [b]

[c] [d]
Sol. [D]

Khazain-ul-Futuh also called Tarikh-i-Allai
refers to the reign of Alauddin Khilji.

In Kiran-us-Saaden, dialogue between Bugra
and Kaikobad is mentioned.

45. Match List-I with List-II and select the cor-
rect answer using the code given below the
lists-

List-I List-II
(Scholar) (Philosophy)

A. Shankaracharya 1. Dvaitadvaitavad
B. Ramanujacharya 2. Dvaitavad
C. Madhvacharya 3. Advaita Vad
D. Nimbarkacharya 4. Vishishtadvaita vad

A B C D A B C D
(a) 4 3 2 1 (b) 3 4 2 1
(c) 1 2 3 4 (d) 4 1 2 3

Sol. [B]
Advaitabad was propounded by
Shankaracharya. He was from Kerala.

Vishishtadvaitvada was given by
Ramanujacharya. He was from Tamil Nadu.

Dualism philosophy was given by
Madhvacharya and he was from Karnataka.

The theory of Dvaitadvaitavad was given by
Nimbarkacharya. He was from Andhra
Pradesh.

46. Consider the following statements-
1. Vaishnavism was introduced by Shankar

Deo in Assam and Cooch Behar.
2. Eksharan Sampradaya was established by

Shankar Deo.
Which of the above statement(s) is/are correct-
[a] only 1 [b] only 2
[c] both 1 and 2 [d] neither 1 nor 2

Sol. [C]
• Vaishnavism was introduced by Shankar

Deo in Assam, Cooch Behar.

• He established the Eksharan Sampradaya.

• He preached in Assamese language.
47. The verses sung in praise of Lord Vitthal

(Vithoba) by the saints of the Varkari sect
are called?
[a] Alakh Dariba [b] Masnavi Poetry
[c] Bijak [d] Abhanga

Sol. [D]
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•
•
•

48. I II 

I II

A. 1.

B. 2.

C. 3.

D. 4.
A B C D A B C D

(a) 2 1 4 3 (b) 1 2 3 4
(c) 4 3 2 1 (d) 3 4 1 2

Sol. [A]

49.

1.
2.
3.

[a] 1 2 [b] 2 3

[c] 1 3 [d] 3
Sol. [B]

1.

2.

3.
( )

Abhanga - are verses sung in praise of Lord
Vitthal. It was composed by Tukaram.
• Masnavi poetry - composed by Sufi poets.
• Bijak is the poetry collection of Kabir.
• Dadu Dayal’s satsang is called Alakh Dariba.

48. Match List-I with List-II.
List-I List-II

(Sufi preceptor) (Silsilah)
A. Hamimuddin Nagauri 1. Satari Silsilah
B. Mohammad Ghaus 2. Chishti Silsilah
C. Jalaluddin Tabriji 3. Naqshbandi Silsilah
D. Sheikh Ahmed Sirhindi 4. Suhrawardy

Silsilah
A B C D A B C D

(a) 2 1 4 3 (b) 1 2 3 4
(c) 4 3 2 1 (d) 3 4 1 2

Sol. [A]
Hamimuddin Nagauri - Chishti series
Mohammad Ghaus - The Satari Series
Jalaluddin Tabriji - Suhrawardi series
Sheikh Ahmed Sirhindi - Naqshbandi series

49. With reference to the Vijayanagara ruler
Krishnadeva Raya, consider the following
statements:
1. He established a city named Nagalpur.
2. He is called the grandfather of Andhra

poetry.
3. He wrote a book named ‘Aamukt Malyad’

in Sanskrit language.
Which of the above statement(s) is/are not correct?
[a] 1 and 2 only [b] 2 and 3 only
[c] 1 and 3 only [d] 3 only

Sol. [B]
1. Krishnadeva Raya built a city named

Naglapur near Vijaynagar in memory of his
mother Nagla Devi and Hospet in memory
of his wife.

2. Krishnadeva Raya is called Abhinav Bhoja,
Andhra Bhoja and Andhra Pitamah be-
cause of being great scholar, education
lover and upliftment of Telugu language.
Krishnadeva Raya’s court scholar Allasi
Pedanna is called the father of Andhra
poetry and Telugu poetry.

3. Krishnadeva Raya’s book in Telugu lan-
guage - Amukta Malyad (Telugu epic)
Books in Sanskrit language - Jambavati
Kalyanam, Usha Parinaya, Madalasa
Charitra.
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50.

A. 1.

B. 2.

C. 3.

D. 4.
A B C D A B C D

(a) 3 4 1 2 (b) 2 3 4 1
(c) 1 2 3 4 (d) 3 2 1 4

Sol. [A]

•

•

•

•

51.

[a] [b]

[c] [d]
Sol. [D]

16%,
24% 33% 

52.

[a] [b]

[c] [d]
Sol. [A]

1667 

53.

[a]

[b]

[c]

[d]

50. Match the following-
Book Writer

A. Raghav Pandaviyam 1. Bhatt Murthy
B. Than Pandurang 2. Allasin Pedna

Mahatmya
C. Vasuchirat 3. Pingali Suran
D. Manucharit 4. Tenaliram

A B C D A B C D
(a) 3 4 1 2 (b) 2 3 4 1
(c) 1 2 3 4 (d) 3 2 1 4

Sol. [A]
There were eight scholars of Telugu literature
in the court of Krishnadeva Raya who are
called ‘Ashta Diganas’.

Scholar Scholarly work
• Allasin Pedanna - Harikathasara,

Manucharita/Svarochita Sambhava
(Telugu epic)

• Tenali Ramakrishna - Pandurang Mahatmya,
Udbhatacharya Charit. (Telugu epic)

• Bhattamurthy Naras Bhupaliar Vakhucharit
(Telugu epic)

• Nandi Timman - Pingali Suran (Telugu epic,
Garuda Purana Raghava Pandya) (Telugu epic)

51. Which Mughal ruler had the maximum num-
ber of Hindu Mansabdars in his court?
[a] Akbar [b] Jahangir
[c] Shahjahan [d] Aurangzeb

Sol. [D]
The number of Hindu mansabdars increased to
16% during Akbar’s time, 24% during Shahjahan’s
time and 33% during Aurangzeb’s time.

52. Which community provided the background to
the Afghan rebellion during Aurangzeb’s reign?
[a] Roshnai [b] Naqshbandi
[c] Kalandari [d] Satari

Sol. [A]
In 1667, an Afghan Sardar Bhagu declared a
person named Muhammad Shah as the king
and declared himself as his vizier. The aim of
the Afghan insurgency was to establish a
separate Afghan state, which was provided
by a religious sect called Roshnai.

53. What is meant by ‘Maktab’ prevalent in the
Mughal period?

[a] Primary Education Center
[b] An anthology of letters of Sufi saints
[c] Architecture style
[d] The official language
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Sol. [A]
•

•

54.

A. 1.

B. 2.

C. 3.

D. 4.
A B C D A B C D

(a) 1 2 3 4 (b) 2 1 4 3
(c) 2 4 1 3 (d) 4 2 3 1

Sol. [D]

55.

[a]

[b]

[c]

[d]
Sol. [A]

56.

[a]

[b]

[c]

[d]
Sol. [B]

57

[a] [b]

[c] [d]
Sol. [D]

1528 

58

[a]

Sol. [A]
• Maktab - Primary Education Center

• Madrasa - Higher education center
54. Match the following-

Painter Ruler

A. Mir Syed Ali 1. Shah Jahan
B. Daswant 2. Akbar
C. Manohar 3. Jahangir
D. Hasim Khan 4. Humayun

A B C D A B C D
(a) 1 2 3 4 (b) 2 1 4 3
(c) 2 4 1 3 (d) 4 2 3 1

Sol. [D]
55. To whom does the credit for the beginning

of ‘Dhrupada Gayiki’ go?

[a] Raja Mansingh Tanwar of Gwalior
[b] Chhatrashal Bundela
[c] Muhammad Khan Bangash
[d] Jahangir

Sol. [A]
Started Dhrupad singing of Raja Mansingh
Tanwar of Gwalior. It was further developed
in the court of Akbar. Tansen had a special
contribution in this.

56. Where has Pitradyura been used for the first
time?

[a] Humayun’s Tomb
[b] Tomb of Itmad-ud-Daula
[c] Tomb of Mariam Uzzamani
[d] Tajmahal

Sol. [B]
This mausoleum was built by Nur Jahan in
Agra in memory of her father. It is completely
made of marble. In this, the Iranian style
Pitradyura was used for the first time. In this
style colorful carvings and gems are used on
marble.

57. Which Mughal ruler got the ‘Bagh-e-Nilofar’
constructed?

[a] Shah Jahan [b] Jahangir
[c] Akbar [d] Babur

Sol. [D]
Bagh-e-Nilofar was built by the Mughal
emperor Babur in 1528 in Dholpur, Rajasthan.
It is also locally known as Badshahi Bagh.

58. What is Ushr:
[a] Land tax collected from Muslim farmers.
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[b]

[c]

[d] 1/5
Sol. [A]

10%
20% 

59.
1.

2.

[a] 1 [b] 2

[c] 1 2 [d] 1 2
Sol. [A]

60.

1.
2.
3.
4.
[a] 1, 3 4 [b] 1 2
[c] 1 4 [d]

Sol. [D]

1565 

61

1 2

[a]

[b]

[c]

[d]

[b] Land tax collected from Hindu farmers.
[c] Religious tax collected from Muslims
[d] 1/5th of the spoils of war as the share of

the state
Sol. [A]

Ushr was a land tax collected from Muslim
farmers during the Sultanate period. Where
irrigation was done from natural resources,
10% tax was imposed and where irrigation was
done from artificial resources, 20% tax was
imposed.

59. Consider the following statements-
1. Shalimar Bagh located in Srinagar was built

by Jahangir.
2. Arambagh was built by Shah Jahan in Agra.
Select the correct statement-
[a]1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [A]
Shalimar Bagh and Nishat Bagh located in
Srinagar were built by Jahangir.
Arambagh was built by Babur in Agra.

60. Select the buildings of Akbar period from the
following-
1. Humayun's Tomb
2. Red Fort of Agra
3. Tomb of Islam Khan
4. Panchmahal
[a]1, 3 and 4 only [b] 1 and 2 only
[c] 1 and 4 only [d] All of the above

Sol. [D]
Humayun's tomb was built by Akbar's step-
mother Haji Begum. It is located in Delhi and
the Char Bagh style is used for the first time
in this mausoleum.
Qasim Khan was the architect of the Red Fort
of Agra. It was built in 1565.
Tomb of Islam Khan and Panchmahal both
buildings are built in Fatehpur Sikri courtyard.
Panchmahal is a five storied building built in
Buddhist style.

61. Which of the following pair is not correctly
matched?

List 1 List 2
[a] Aryabhata - Aryabhatiyam
[b] Varahamihira - Brihatsamhita
[c] Bhaskar - Siddhanta Shiromani
[d] Brahmagupta - Panchasiddhantika
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Sol. [D]

62

[a] [b]
[c] [d]

Sol. [B]

63

[a]
[b]
[c]
[d]

Sol. [C]

64

A. 1.

B. 2.

C. 3.

D. 4.

A B C D A B C D

[a] 3 1 4 2 [b] 2 4 3 1

[c] 1 2 3 4 [d] 2 1 4 3

Sol. [C]

65

A. 1.
B. 2.
C. 3.
D. 4.

A B C D A B C D
[a] 1 3 4 2 [b] 2 4 3 1
[c] 3 4 2 1 [d] 4 2 3 1

Sol. [C]

66

[a]
[b]

Sol. [D]
The author of Panchasiddhantika is Varahamihira.
Other books of Varahamihira are Laghu Jataka,
Vrihad Jataka and Vrihad Samhita.

62. Which one of the following Sanskrit works
is not a historical drama?
[a] Malavikagnimitra [b] Harshacharita
[c] Mudrarakshasa [d] Swapnavasavadatta

Sol. [B]
Harshacharita is the biography of
Harshavardhana composed by Banabhatta.
The other three options are plays.

63. Which of the following is not correctly
matched?
Harappan Settlement Excavators
[a] Banawali – R. S. Bisht
[b] Dholavira - Jagapati Joshi
[c] Meetathal – Jagapati Joshi
[d] Rakhigarhi - Vasant Shinde

Sol. [C]
Mitathal (Haryana) was excavated by Suraj Bhan.

64. Match:
Upanishad Famous aphorism
A. Chhandogya 1. Tatvam Asi
B. Virhadranya 3.  Aham Brahmasmi
C. Mandukya 4. Ayam Atma

Brahma
C. Mundakopanishad 4. Satyamev Jayate

A B C D A B C D
[a] 3 1 4 2 [b] 2 4 3 1
[c] 1 2 3 4 [d] 2 1 4 3

Sol. [C]
65. Match-

First list Second list
A. Vedanta Sutras 1. Jaimini
B. Vaisheshika Sutra 2. Patanjali
C. Yogasutra 3. Badrayan
D. Purvmimamsa 4. Kanad

A B C D A B C D

[a] 1 3 4 2 [b] 2 4 3 1

[c] 3 4 2 1 [d] 4 2 3 1

Sol. [C]
66. Which one of the following pairs is not

correctly matched?
[a] Vakpati - Gaudvaho
[b] Somdev - Kathasaritsagara
[c] Dandin - Dashakumarcharit
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[d] Vilhan - Navasahasancharit
Sol. [D]

Padmagupta is the author of Navasahasancharita.
Vilhan's work is Vikramankdev Charit.

67. Read the following statements about
Mathura art:

1. It was an indigenously developed art.
2. Local red sandstone was used in Mathura

art.
3. In this art form, Buddha is shown with

shaved head and bare right shoulder.
The correct statement from the above are:

[a] 1 and 3 [b] 1, 2 and 3
[c] 1 and 2 [d] 2 and 3

Sol. [B]

68. Match the folowing-

Memorial Site

A. Meguti Temple 1. Paddakal

B. Papnath Temple 2. Aihole

C. Gangavataran Statue 3. Darasuram

D. Airavatesvara Temple 4. Mahabalipuram

Select the correct code:

A B C D A B C D

[a] 2 1 4 3 [b] 1 2 3 4

[c] 4 1 3 2 [d] 4 3 2 1

Sol. [A]

69. Which of the following Vedas is not
included in Vedatrayi?
[a] Rigveda [b] Samaveda
[c] Atharvaveda [d] Yajurveda

Sol. [C]
The early three Vedas - Rigveda, Yajurveda
and Samaveda are called Vedayatri.
Atharvaveda was composed later.

70. Consider the following statements regarding
Harappan civilization:
1. 16 artificial reservoirs have been found

from Dholavira situated on the banks of
Bhogwa river.

2. Dholavira town is divided into three parts
unlike other sites.

Select the correct statements from above-
[a] 1 only [b] 2 only

[c]
[d]

Sol. [D]

67

1.

2.

3.

[a] 1 3 [b] 1, 2 3

[c] 1 2 [d] 2 3

Sol. [B]

68

A. 1.

B. 2.

C. 3.

D. 4.

A B C D A B C D

[a] 2 1 4 3 [b] 1 2 3 4

[c] 4 1 3 2 [d] 4 3 2 1

Sol. [A]

69

[a] [b]

[c] [d]

Sol. [C]

70

1 16

2
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[a] 1 [b] 2

[c] 1 2 [d] 1 2

Sol. [B]

71

1

2

3

4

[a] [b]

[c] [d]

Sol. [C]

72

1 18

2

3

[a] 1 2 [b] 1 3

[c] 2 3 [d] 1 2 3

Sol. [A]

73

1 2

3 4

[a] 1 2 3 [b] 2 3 4

[c] 1 2 4 [d]

Sol. [C]

[c] Both 1 and 2 [d] Neither 1 nor 2
Sol. [B]

Lothal city is situated on the banks of Bhogwa
river. Dholavira is situated between the
streams named Mansar and Manhar.
Dholavira town is divided into three areas
(fort, middle, lower).

71. How many of the pairs are correctly matched-
Indus Civilization Key Feature
Site

1. Dholavira Sign Board
2. Surkotra Bones of horses
3. Sutkagendor A trade point

between Harappa
and Babylon

4. Harappa Pashupathi Seal
Select the correct code-
[a] One only [b] Two only
[c] Three only [d] All of the above

Sol. [C]
Pashupati Shiva's seal has been obtained from
Mohenjodaro.

72. Consider the following statements regarding
Puranas-
1. There are a total of 18 purans composed

by Lomharsh and Ugrashrava
2. Matsya Puran is the oldest among all

puranas.
3. Vayu Puran talks about Mauryan dynasty

and their administration.
Select the correct statements-
[a] 1 and 2 [b] 1 and 3
[c] 2 and 3 [d] 1, 2 and 3

Sol. [A]
The Gupta dynasty is found in the Vayu Purana
while the genealogy and information of the
Maurya dynasty is found in the Vishnu Purana.

73. Which of the following rivers were part of
Sapta Sindu?
1. Vipasha 2. Vitasta
3. Chitrotpala 4. Askini
Select the correct code-
[a] 1, 2 and 3 [b] 2, 3 and 4
[c] 1, 2 and 4 [d] All of the above

Sol. [C]
Vipasha, Satudri, Vitasta, Askini, Purushni,
Sindhu and Saraswati are the rivers of
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74

1

2

[a] 1 [b] 1 2
[c] 1 2 [d] 2

Sol. [B]

75

1

2

[a] 1 [b] 1 2
[c] 1 2 [d] 2

Sol. [D]

76

A 1.
B 2.
C 3.
D 4.

A B C D A B C D
[a] 2 1 4 3 [b] 2 1 3 4
[c] 4 1 3 2 [d] 4 3 1 2

Sol. [C]
77

1
2
3
4

Saptasandhav region. While Chitretpala is the
ancient name of Mahanadi.

74. Consider the following statements regarding
Ajivika sect-

1. It is one of the schools under Nastika phi-
losophy which does not believe in the au-
thority of Vedas.

2. The sect is as seen as professing total de-
terminism in the transmigration of souls,
or series of rebirths

Select the correct statement/s from above-

[a] 1 only [b] Both 1 and 2

[c] Neither 1 nor 2 [d] 2 only

Sol. [B]

75. Arrange the following statements regarding
Jain doctrine-

1. It accepted the efficacy of Vedic rituals.
2. Every object, even the smallest particle, has

a soul.
Select the correct statement/s

[a] 1 only [b] Both 1 and 2
[c] Neither 1 nor 2 [d] 2 only

Sol. [D]

Jainism is an atheistic philosophy, which does
not believe in the authority of the Vedas. The
second statement is correct.

76. Match the following-

Name of Tirthankara Symbol

A. Mahaveer Swami 1. Ox
B. Rishabhadeo 2. Deer
C. Parshwanath 3. Serpent
D. Shantinath 4. Lion

A B C D A B C D

[a] 2 1 4 3 [b] 2 1 3 4

[c] 4 1 3 2 [d] 4 3 1 2

Sol. [C]

77. With respect to the Mahajanapada, consider
the following pairs:

Mahajanapada Associated River
1. Chedi or Cheti  Brahmaputra
2. Avanti Shipra
3. Ashmaka Godavari
4. Kuru Ganga
How many pairs given above is/are correctly matched?
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[a] [b]
[c] [d]

Sol. [C]

78 A : 

R : 

/

[a] A R R, A 

[b] A R 

[c] A R R, A 

[d] A R 

Sol. [B]

/

79

1

2.

/

[a] 1 [b] 1 2 

[c] 1 2 [d] 2

Sol. [C]

80

1.

2.

[a] One pair [b] Two pairs
[c] Three pairs [d] None

Sol. [C]
Chedi or Cheti Mahajanapada was situated on
the bank of Betwa river.

78. Assertion A : The people of Indus Valley
Civilization were familiar with surgery.
Reason R : Remains of a skull have been found
from Mohenjodaro which have six puncture
marks.
[a] Both A and R are true and R is the correct

explanation of A.
[b] A is correct, R is incorrect.
[c] Both A and R are correct but R is not the

correct explanation of A.
[d] A is incorrect, R is correct

Sol. [B]
The remains of a child's skull with six puncture
marks have been found from Kalibanga, the
site of the Indus Valley Civilization. Some of
these scars show signs of healing. Hence the
people of this civilization were familiar with
surgery.

79. Consider the following statements-
1. The Indus Valley Civilization was a devel-

oped urban civilization.
2. In the Indus Valley Civilization, the num-

ber of villages was more than the cities.
Which of the above is not a correct statement?
[a] 1 only [b] Both 1 and 2
[c] Neither 1 nor 2 [d] 2 only

Sol. [C]
The Indus Valley Civilization was a developed
urban civilization and had developed cities like
Harappa, Mohenjodaro, Lothal, Rakhigarhi.
The Indus Valley Civilization was undoubtedly
a developed urban civilization but even then
the number of villages in it was more than the
cities. Villages are the base pillars for the
supply of food grains to the large population
living in the cities, hence their number is more
than the cities.

80. Consider the following statements-
1. Village was the smallest political unit in the

Rigvedic period.
2. In the Rigvedic period, the daughter's

Upnayan Sanskar was performed.
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[a] 1 [b] 2

[c] 1 2 [d] 1 2

Sol. [B]

81

1 2.

3. 4.

[a] 1, 2 3 [b] 2, 3, 4

[c] 1, 3 4 [d] 1, 2, 3, 4

Sol. [C]

82

1

2.

[a] 1 

[b]

[c] 2

[d]

Sol. [C]

Select the correct statement-
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [B]
Political units of the Rigvedic period:
Unit Head
People : Gop
Vish : Vishpati
Village : Gramani
Total : Total
There was no social gender discrimination in
the Rigvedic period. The girl used to have
Upnayan Sanskar and had the right to get
Vedic education and also to perform Yagya.

81. In which of the following Janpada did
Mahatma Buddha migrate?
1. Magadha 2. Avanti
3. Kosala 4. Kashi
[a] 1, 2 and 3 [b] 2, 3, 4

[c] 1, 3 and 4 [d] 1, 2, 3, 4
Sol. [C]

Mahatma Buddha attained enlightenment near
Sarnath (kashi Mahajanpad) and delivered the
first sermon in Sarnath.
Buddha made Magadha his preaching center.
Mahatma Buddha gave maximum sermons in
Sravasti (the capital of Kosala) and also spent
most of the rainy season in Sravasti.
Pradyota, the ruler of Avanti had invited
Mahatma Buddha but he could not go to
Avanti due to illness.

82. Consider the following statements-

1. Ashvaghosha presided over the fourth
Buddhist council organized by Kanishka.

2. Vasumitra composed the book
Vibhashashastra in the fourth Buddhist
council.

[a] Only statement 1 is correct
[b] Both the statements are correct
[c] Only statements 2 are correct
[d] Both the statements are wrong

Sol. [C]

The Kushan ruler Kanishka organized the Fourth
Buddhist Council at Kundalvan in Kashmir.
Vasumitra - President
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83.

[a]

[b]

[c]

[d]

Sol. [C]

84

1

2.

[a] 1 

[b] 2 

[c]

[d]

Sol. [B]

85

1

2.

3.

[a]

[b]

[c]

[d]

Sol. [B]

Ashwaghosh - Vice President and Chief Guest.
Commentaries written on Buddhist texts in the
Fourth Buddhist Council are called
Vibhashashastra. Its author is Vasumitra.

83. In which of the following inscriptions,
Bharatvarsha is first mentioned?

[a] Thirteenth inscription of Ashoka

[b] Allahabad Pillar inscription of Samudragupta

[c] Hathigumpha inscription of Kharavela

[d] Bhitari inscription of Skandagupta

Sol. [C]

The Hathigumpha inscription of Kalinga King
Kharavela is written in Prakrit language. In
which Bhardhavas in Prakrit (Bharatvarsha
description is available.)

84. Consider the following statements-
1. Tollakapiyam is the only available

composition of the first Sangam.
2. The creator of Tolkappiyam was

Tolkappiyar.
[a] Only 1 is correct.
[b] Only 2 is correct.
[c] Both the statements are incorrect.
[d] Both the statements are correct.

Sol. [B]
Tollakapiyam composed by Tollakapiyar is the
oldest Tamil grammar book.
Eight types of marriages are mentioned in this book.
Tollakapiyam is the only available text of the
Second Sangam.

85. With reference to Sangam literature, consider
the following pairs.
Granth Sangam
1. Ettutokai Third confluence
2. Thirukkural Second Sangam
3. Patupattai Third confluence
[a] Only one pair is matched
[b] Only two pairs are matched
[c] All pairs are matched
[d] No pair is correctly matched.

Sol. [B]
Sangam (Tamil literature) organized in South
India-
First Sangam: No texts available.
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8 

10 
86.

1.
2.
3.

[a] 1 2 [b] 3
[c] 1 [d] 1, 2 3

Sol. [A]

8

87.

1. 11 

2.

3.

[a] 1 3 [b] 1 2
[c] 3 [d] 2 3

Sol. [D]
11 

88.
1.

2.

[a] 1 [b] 2
[c] 1 2 [d] 1 2

Sol. [B]

Second Sangam: The only text Tollakapiyam
available
Third Sangam: Ettutokai - a collection of 8 texts

              Pattupatai - a collection of 10 texts
86. Consider the following statements-

1. In Rigveda, learned women have been
called sages.

2. Rice is not mentioned in Rigveda.
3. In the Rigvedic period, trade was done

through currency.
Choose the correct statement-
[a] 1 and 2 only [b] 3 only
[c] 1 only [d] 1, 2 and 3

Sol. [A]
In the 8th Mandal of Rigveda, Lopamudra,
Ghosha, Sikta, Apala, Classyvritti, Indrani,
Vishwash etc. have been mentioned as wise
women who have been called sages.
Only one grain Yava (barley) has been
mentioned in Rigveda.
There was no currency in the Rigvedic period.
Trade was done only through barter.

86. With reference to Jainism, consider the
following statements-
1. Lord Mahavir gave the first sermon to 11

Brahmins. Those are called 'Koundinya'.
2. Along with war, agriculture is also pro-

hibited in Jainism.
3. The first female disciple of Lord Mahavira

was Chandana.
The correct statements from the above are-
[a] 1 and 3 only [b] 1 and 2 only
[c] 3 only [d] 2 and 3 only

Sol. [D]
Lord Mahavir gave the first sermon to 11
Brahmins who were called 'Gandhar'
(Gandharva).
Jainism lays great emphasis on non-violence.
Since there is violence in both war and
agriculture, both war and agriculture have
been prohibited in Jainism.
Chandana was the first female disciple of Lord
Mahavira and she also became the head of the
Bhikshuni Sangha.

88. Consider the following statements-
1. According to Rajatarangini, Kanishka

attacked Kashmir and established 'Srinagar'.
2. Kanishka was a follower of the Mahayana

school.
The correct statements from the above are-
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [B]
According to Rajatarangini (Kalhana),
Kanishka invaded Kashmir and established a
city named 'Kanishkapur' there.
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89.

1.

2.

3.

(a) 1 2 (b) 2 3
(c) 1 3 (d) 1, 2 3

Sol. [D]
90.

(a) (b) 
(c) (d) 

Sol. [B]

91.

(a) (b) 

(c) (d) 
Sol. [B]

92. 1.

2.

(a) 1 (b) 2
(c) 1 2 (d) 1, 2

Sol. [B]

93.

A. 1. 
B. 2. 
C. 3. 
D. 4. 

After the division of Buddhism into Hinayana
Mahayana in the Fourth Buddhist Council,
Kanishka organized a conference of the
Mahayana branch. Hence Kanishka was a
follower of the Mahayana branch of Buddhism.

89. Consider the following statements with reference
to ancient Indian contribution in the development
of mathematics-
1. Residents of Ancient India gave the use of

notation system, decimal system and zero as
three major contributions in mathematics.

2. Sulva sutra indicates us about development of
geometry in ancient India.

3. Arya Bhatt's book Surya Siddhanta provides
the example of development of Trigonometry.

Which of the above statements is/are correct?
(a) 1 and 2 (b) 2 and 3
(c) 1 and 3 (d) 1, 2 and 3

Sol. [D]
90. Which of the following Maurya ruler was Jain?

(a) Kunal (b) Samprati
(c) Dashratha (d) Jalik

Sol. [B]
Samprati was initiated into Jainism by a
Jainacharya named Suhasti.

91. Information about making of sun temple by Silk
weavers is found at-

(a) Prayag prashasti (b) Mandasor inscription

(c) Indore inscription (d) Ujjain prashasti
Sol. [B]

It is known from the Mandsaur eulogy that the Sun
Temple was built by Kaulik (silk weavers) Guild. It
belongs to the reign of the Gupta ruler
Kumaragupta.

92. 1. Sangam literature provides details of origin and
development of Chola kings only.

2. Kural is considered Bible and small veda of
Tamil literature.

Which of the above statements is/are correct?

(a) Only 1 (b) Only 2

(c) Both 1 and 2 (d) Neither 1 nor 2
Sol. [B]

Information about Chola, Chera and Pandya kings
is found in Sangam literature. Kural was composed
by the great poet Thiruvalluvar, which is called
the fifth Veda, the Laghuveda and the Bible of
Tamil literature.

93. Match the followings-
Mauryan Age Pillars Animals
A. Sanchi 1. Bull
B. Rummindei 2. Lion
C. Rumpurva 3. Elephant
D. Sankisa 4. Horse
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A B C D A B C D
(a) 4 2 3 1 (b) 2 4 1 3
(c) 4 2 1 3 (d) 3 2 4 1

Sol. [B]
94.

(a)
(b)
(c) -I (d)

Sol. [B]

II (375-414 )

95.

1.

2.

3.

(a) 1 2 (b) 2 3
(c) 1 3 (d) 1, 2 3

Sol. [C]

96.
(a)

(b)

(c)

(d)
Sol. [C]

/

97.

(a) (b)
(c) (d)

Sol. [B]

A B C D A B C D
(a) 4 2 3 1 (b) 2 4 1 3
(c) 4 2 1 3 (d) 3 2 4 1

Sol. [B]
94. First Gupta ruler to assume the title of 'Param

Bhagawat' was:–

(a) Samudra Gupta

(b) Chandra Gupta Vikramaditya

(c) Chandra Gupta I (d) Sri Gupta

Sol. [B]

Titles of Chandragupta II (375-414 AD) -
Vikramaditya, Parmeshwara, Parambhattarak
Shakari, Param Bhagwat

95. Which of the following statements about Pallava
dynasty are correct?
1. Education centres developed by Pallava rulers

were known as 'Ghatika'.
2. Chariot temples and kanchi's kailashnath

temple are examples of Mahamalla school of
architecture.

3. Mahendra varman's Mattavilasa prahasan is
considered to be first book on satire in India.

(a) 1 and 2 (b) 2 and 3
(c) 1 and 3 (d) 1, 2 and 3

Sol. [C]
The Rath Temple of Mahabalipuram is an example
of the Mammal style while the Kailasanatha temple
of Kanchi is an example of the Rajasimha style.
Mattavilas prahasana is a satire book on the life of
buddhist monks and Kapalikas.

96. Which of the following statements an incorrect?

(a) Both Lord Mahavir and Buddha believed in
social harmony.

(b) Mahavir and Buddha both emphasized ethical
conduct for achieving liberation.

(c) According to both, extreme penance is the
means of achieving Nirvana.

(d) Both believed in the theory of Karma
Sol. [C]

Lord Mahavir has considered extreme penance as
the means of attaining Moksha/Nirvana while
Buddha has accepted the middle path.

97. During the reign of which Ruler, three of the great
preachers The Budha, Mahavira and Makkhali
gosala attained Nirvana?
(a) Bimbisara (b) Ajatashatru
(c) Udayin (d) Nagadasaka

Sol. [B]
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98.

(a) (b)

(c) (d)

Sol. [A]

99. (78 )

(a) 
(b) 
(c) 
(d) 

Sol. [C]

78

100.

(a)

(b)

(c)

(d)

101.

  

[a] 15 [b] 19
[c] 10 [d] 20

Sol. [B]

3

3

3

3

1

3

C

B

A

D

3 + 3 + 3 + 3 + 3 + 1 + ABC + ACD = 19

98. Who composed Kalingattuparani (War poetry)?

(a) Jayankondar (b) Tolamily

(c) Perundevanar (d) Tiruttak Devar

Sol. [A]

The Kalinga campaign of the Chola ruler
Kulotanga I is mentioned in the Kalingatuparni.
Its author was Jayagondar.

99. Which ruler started the Shaka/Saka calendar?

(a) Pushya Mitra Shung
(b) Kujula Kadphises

(c) Kanishka

(d) Chandra Gupta Maurya
Sol. [C]

The Saka Samvat started in AD 78 on the
occasion of the coronation of the Kushan ruler
Kanishka.

100. Which script/scripts did James Prinsep deduce
from the inscriptions of Ashoka?

(a) Only Brahmi

(b) Only Kharoshthi

(c) Both Brahmi and Kharosthi

(d) Neither Brahmi nor Kharoshthi
101. How many triangles in given figure?

  

[a] 15 [b] 19
[c] 10 [d] 20

Sol. [B]

3

3

3

3

1

3

C

B

A

D

3 + 3 + 3 + 3 + 3 + 1 + ABC + ACD = 19
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102.

[a] 22 [b] 21
[c] 23 [d] 20

Sol. [C]

8

3

2

3

2

1

3

1

3 + 2 + 8 + 1 + 1 + 2 + 3 + 3 = 23
103.

[a] 27 [b] 34
[c] 31 [d] 26

Sol. [C]

3

3

3

3

3 3

3

3

3

3

A

B C

 = 3 + 3 + 3 + 3 + 3 + 3 + 3 + 3 + 3 + 3 + ABC = 31
104.

[a] 7 [b] 13
[c] 12 [d] 10

Sol. [D]

1
2

3 4
5
6

9
10

7
8

102. How many triangles in given figure?

[a] 22 [b] 21
[c] 23 [d] 20

Sol. [C]

8

3

2

3

2

1

3

1

3 + 2 + 8 + 1 + 1 + 2 + 3 + 3 = 23
103. How many triangles in given figure?

[a] 27 [b] 34
[c] 31 [d] 26

Sol. [C]

3

3

3

3

3 3

3

3

3

3

A

B C

 = 3 + 3 + 3 + 3 + 3 + 3 + 3 + 3 + 3 + 3 + ABC = 31
104. How many triangles are there in the given figure?

[a] 7 [b] 13
[c] 12 [d] 10

Sol. [D]

1
2

3 4
5
6

9
10

7
8
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= (1, 3, 4, 5, 7, 9) =
6

= (1, 2), (5, 6), (9, 10),
(7, 8) = 4

= 6 + 4 = 10

105.

[a] 14 [b] 12
[c] 15 [d] 13

Sol. [D]

1 2

3
5
6

8

4

7

= 1, 2, 3, 5, 6, 8 = 6
= (1, 2), (5, 6), (4, 5),

(6, 7) = 4
= (1, 2, 3), (5, 6, 8)

= 2
= (4, 5, 6, 7) = 1

= 6 + 4 + 2 + 1= 13 
106.

[a] 20 [b] 19
[c] 21 [d] 18

Sol. [A]

3

3

35 5

B C

A D

3 + 5 + 5 + 3 + 3 + ABCD = 20

Number of triangles formed by one digit = (1,
3, 4, 5, 7, 9) = 6Z
Number of two digit triangles = (1, 2), (5, 6),
(9, 10), (7, 8) = 4
So total number of triangles = 6 + 4 = 10

105. How many triangles in given figure?

[a] 14 [b] 12
[c] 15 [d] 13

Sol. [D]

1 2

3
5
6

8

4

7

Number of triangles formed by one digit = 1,
2, 3, 5, 6, 8 = 6
Number of two digit triangles = (1, 2), (5, 6),
(4, 5), (6, 7) = 4
Number of triangles formed by three digits
= (1, 2, 3), (5, 6, 8) = 2
Number of triangles made of four digits (4, 5, 6, 7) = 1
So total number of triangles = 6 + 4 + 2 + 1 =
13 triangles

106. How many square in the given figure?

[a] 20 [b] 19
[c] 21 [d] 18

Sol. [A]

3

3

35 5

B C

A D

3 + 5 + 5 + 3 + 3 + ABCD = 20



Page 33 of 32

107.

[a] 20 [b] 23
[c] 26 [d] 28

Sol. [B]

108.

[a] 21 [b] 15
[c] 16 [d] 17

Sol. [C]

1

2

4

5

3

6

7

= 7
= (7, 6) (7, 5) (4, 5) (2, 1)= 4

3 = (1, 2, 3) = 1
4 = (4, 3, 2, 1) = 1
5 = (5, 4, 3, 2, 1) (6, 4, 3, 2, 1)= 2
7 =  1

= 7 + 4 + 1 + 1 + 1 + 2 = 16
109.

107. How many straight line are there in this
figure?

[a] 20 [b] 23
[c] 26 [d] 28

Sol. [B]
In the above figure 23 lines are used.

108. How many rectangle in the given figure?

[a] 21 [b] 15
[c] 16 [d] 17

Sol. [C]

1

2

4

5

3

6

7

Rectangle made of one digit = 7
Rectangle made of two digits = (7, 6) (7, 5)
(4, 5) (2, 1) = 4
Rectangle made of 3 digits = (1, 2, 3) = 1
Rectangle made of 4 digits = (4, 3, 2, 1) = 1
Rectangle made of 5 digits = (5, 4, 3, 2, 1) (6,
4, 3, 2, 1) = 2
Rectangle made of 7 digits = 1
Total rectangle = 7 + 4 + 1 + 1 + 1 + 2 = 16

109. How many square in the given figure?
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[a] 14 [b] 13
[c] 12 [d] 10

Sol. [B]
13 

A E B

H

D G C

F

J K R S

TULM

N O

Q P

V W

Y X

IA1 B1

C1D1

E1 F1

H1 G1

J1 K1

L1M1

N1 O1

Q1 P1

ABCD; AEIH; EBFI; HIGD; IFCG; JKLM; RSTU;
A1B1C1D1; J1K1L1M1; NOPQ; VWXY; E1F1G1H1;
N1O1P1Q1

110.

[a] 11 [b] 12
[c] 13 [d] 14

Sol. [C]

13

8 9

10

1112 5

6

7 3
2

4
1

13

111-112 10 

2   6   4   5   0   2   1   3   2   3

111.

[a] 2 [b] 3

[c] 4 [d] 5

Sol. [A]

3 2 
2 

112.

[a] 1 [b] 3.5
[c] 2.8 [d] 2

Sol. [C]

[a] 14 [b] 13
[c] 12 [d] 10

Sol. [B]
There are total 13 classes in the given figure:

A E B

H

D G C

F

J K R S

TULM

N O

Q P

V W

Y X

IA1 B1

C1D1

E1 F1

H1 G1

J1 K1

L1M1

N1 O1

Q1 P1

The classes are as follows:
ABCD; AEIH; EBFI; HIGD; IFCG; JKLM; RSTU;
A1B1C1D1; J1K1L1M1; NOPQ; VWXY; E1F1G1H1;
N1O1P1Q1

110. How many circles are there in this figure?

[a] 11 [b] 12
[c] 13 [d] 14

Sol. [C]

13

8 9

10

1112 5

6

7 3
2

4
1

So there are 13 circles in total.
Direction 111-112 : The wickets taken by a bowler
in 10 cricket matches are as follows:
2   6   4   5   0   2   1   3   2   3

111. Find the mode of the data.
[a] 2 [b] 3
[c] 4 [d] 5

Sol. [A]
Clearly 2 is the number of wickets taken by
the bowler in the maximum number of matches
(i.e 3) of matches. So, the mode of this data is
2.

112. Find the mean of given data.

[a] 1 [b] 3.5
[c] 2.8 [d] 2

Sol. [C]
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 28
2.8

10
 

(113-114)
30 

40-45 45-50 50-55 55-60 60-65 65-70 70-75

2 3 8 6 6 3 2

113.

[a] 56.8 [b] 54.16
[c] 57.5 [d] 56.6

Sol. [D]

40-45 2 2
45-50 3 5
50-55 8 13
55-60 6 19
60-65 6 25
65-70 3 28
70-75 2 30

N = 30 N/2 = 15

= 55-60

l = 55, Cf = 13, f = 6 & h = 5

   2 f

N
C

l h
f


  

  = 55 + [(15 – 13)/6] × 5
= 55 + (10/6)
= 55 + 1.6
= 56.6

114.

[a] 55.45 [b] 77.65
[c] 53.57 [d] 78.75

Sol. [C]

1 0

1 0 22

f f
l h

f f f


  

 

8 3
50 5

2(8) 3 6

 
     
= 50 + 3.57 = 53.57

115. 100 

18 
60 

Mean= 
Total numberof wickets

Total number of Matches

28
2.8

10
 

Direction (113-114) : The distribution below gives
the weight of 30 students of class.

Weight (in kg) 40-45 45-50 50-55 55-60 60-65 65-70 70-75

Number of 
Students

2 3 8 6 6 3 2

113. Find the median weight of the students.

[a] 56.8 [b] 54.16
[c] 57.5 [d] 56.6

Sol. [D]

Class Interval  Frequency Cumulative Frequency 
40-45 2 2
45-50 3 5
50-55 8 13
55-60 6 19
60-65 6 25
65-70 3 28
70-75 2 30

Given : N = 30 And N/2 = 15
Median Class = 55-60
l = 55, Cf = 13, f = 6 & h = 5

Median    2 f

N
C

l h
f


  

Median = 55 + [(15 – 13)/6] × 5
= 55 + (10/6)
= 55 + 1.6
= 56.6

114. Find the mode of the students.

[a] 55.45 [b] 77.65
[c] 53.57 [d] 78.75

Sol. [C]

Mode
1 0

1 0 22

f f
l h

f f f


  

 

8 3
50 5

2(8) 3 6

 
     
= 50 + 3.57 = 53.57

115. A life insurance agent found the following
data for distribution of ages of 100 policy
holders. Calculate the median age, if poli-
cies are given only to persons having age
more then 18 years  but less than 60 year.
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20 

25 

30 

35 

40 

45 

50 

55 

60 

 

2 

6 

24 

45 

78 

89 

92 

98 

100 

 

[a] 34.60 [b] 37.16
[c] 35.76 [d] 36.56

Sol. [C]

(fl)

 

18-20 2 2 

20-25 6-2 = 4 6 

25-30 24-6=18 24 

30-35 45-24 = 21 45 

35-40 78-45=33 78 

40-45 89-78=11 89 

45-50 92-89=3 92 

50-55 98-92=6 98 

55-60 100-98=2 100 
 

n = 100

50
2

n


(Cf) 78,
2

n

35 – 40

= 35-40

l = 35
h = 5
f = 33

Age (In year) Number of policy 
holders 

Below 20 

Below 25  

Below 30 

Below 35 

Below 40

Below 45 

Below 50 

Below 55

Below 60
 

2 

6 

24 

45 

78 

89 

92 

98 

100 

 
[a] 34.60 [b] 37.16
[c] 35.76 [d] 36.56

Sol. [C]

Age (In year) Number of policy 
holders (f1) 

Cumulative 
frequency 

18-20 2 2 

20-25 6-2 = 4 6 

25-30 24-6=18 24 

30-35 45-24 = 21 45 

35-40 78-45=33 78 

40-45 89-78=11 89 

45-50 92-89=3 92 

50-55 98-92=6 98 

55-60 100-98=2 100 
 

From the table, it can be observed that n =
100
Thus,

50
2

n


Cumulative frequency (Cf) just greater than 
2

n
is

78.
Belongs interval 35 – 40
Therefore, median class = 35-40
l = 35
h = 5
f = 33
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Cf = 45

2 f

n
C

m l h
f

  
   

 
 

50 45
35 5

33
m

    
 

25
35

33
m     

 
m = 35.76

35.76
116.

x 5 6 7 8 10 11 12 13

f 5 7 11 9 8 7 3 2

[a] 6 [b] 7
[c] 8 [d] 10

Sol. [C]

x 5 6 7 8 10 11 12 13
f 5 7 11 9 8 7 3 2

CF 5 12 23 32 40 47 50 52

N = 52
N/2 = 26

32 N/2 26
32 8

117.
11 : 13 

[a] 15 : 13 [b] 11 : 15
[c] 17 : 13 [d] 11 : 17

Sol. [C]
3 = 2 + 1
3 (13x) = 2 (11x) +
39x = 22x +

= 17x


 17 x : 13x
 17 : 13

Cf = 45
Substituting these value in the formula of
medain we get.

2 f

n
C

m l h
f

  
   

 
 

50 45
35 5

33
m

    
 

25
35

33
m     

 
m = 35.76

Hence, median age of people who get the poli-
cies is 35.76 years.

116. Find the median in the following series.

x 5 6 7 8 10 11 12 13

f 5 7 11 9 8 7 3 2

[a] 6 [b] 7

[c] 8 [d] 10

Sol. [C]

x 5 6 7 8 10 11 12 13
f 5 7 11 9 8 7 3 2

CF 5 12 23 32 40 47 50 52

N = 52
Hence,  N/2 = 26
Cumulative frequency 32 is most near to N/2 i.e.
26.
Thus, the corresponding value of 32 frequency
i.e. 8 will be the median of this data.

117. If the ratio of mean and median of some data
is 11 : 13, the find the ratio of mode and me-
dian of this data.
[a] 15 : 13 [b] 11 : 15
[c] 17 : 13 [d] 11 : 17

Sol. [C]
3 Median = 2 Mean + 1 Mode
3 (13x) = 2 (11x) + Mode
39x = 22x + Mode
Mode = 17x
Required Ratio :
Mode : Median
 17 x : 13x
 17 : 13
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118.

8  11  12  16  16 + x   20  25    30
18 x 

[a] 4 [b] 2
[c] 3 [d] 1

Sol. [A]
= 16 (16+x)

= 
(16) (16 )

2

x  
 
 

18 = 
16 16

2

x 

x = 4
119. n

–

x (n-1) k
nth 

[a] n 
–

x – k [b]
–

x  – nk

[c] n 
–

x  + k [d]
–

x
Sol. [A]

n =
–

x

n = n
–

x
(n – 1) = k
n n (n – 1)
= n 

–

x  – k
120.

8   17   23   5   29   15   17
[a] 25 [b] 5
[c] 24 [d] 17

Sol. [C]
= 29

= 5
= – 

       = 29 – 5
       = 24

121.

1.
2001 2011 

2. 2011 
933 

118. Following terms are arranged in ascending
order like-
8  11  12  16  16 + x   20  25    30
If the median is 18, then find the value of x.
[a] 4 [b] 2
[c] 3 [d] 1

Sol. [A]
The middle terms are = 16 and (16+x)

Thus, median = 
(16) (16 )

2

x  
 
 

18 = 
16 16

2

x 

x = 4
119. If the arithmetic mean of n number of a se-

ries is 
–

x and the sum of the first (n-1) num-

ber is k, then find the nth number.

[a] n 
–

x – k [b]
–

x  – nk

[c] n 
–

x  + k [d]
–

x
Sol. [A]

Mean of n number =  
–

x

Sum of n number = n
–

x
Sum of (n – 1) number = k
nth term = Sum of n terms - Sum of (n – 1)
term

= n 
–

x  – k
120. Find the range of the given data-

8   17   23   5   29   15   17
[a] 25 [b] 5
[c] 24 [d] 17

Sol. [C]
Highest value = 29
Lowest value = 5
Range = Highest value – Lowest value

      = 29 – 5
      = 24

121. Consider the following statements-

1. Rural and urban areas of Rajasthan have
witnessed decline in child ratio in 2011 as
compared to 2001.

2. According to the 2011 census, the rural sex
ratio in Rajasthan is 933.
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[a] 1 [b] 2

[c] 1 2 [d] 1 2 

Sol. [D]

2001 2011

887 874

914 892

122.

[a] [b]

[c] [d]

Sol. [C]

- 807

- 864

- 872

- 878

123.

[a] [b]

[c] [d]

Sol. [C]

1. 907

2. 906

3. 904

4. 901

5. 899
124. 2011

1. 61.40

2.

[a] 1
[b] 2
[c] 1 2

[d] 1 2 

Sol. [A]

30.46

(60.31%)

Select the correct statement/s-

[a] 1 only [b] 2 only
[c] Neither 1 Nor 2 [d] Both 1 and 2

Sol. [D]

Child Sex Ratio 2001 2011

Urban - 887 874
Rural - 914 892

122. The district with minimum urban sex ratio
in Rajasthan is-

[a] Sri Ganganagar [b] Alwar
[c] Jaisalmer [d] Dholpur

Sol. [C]

District - Sex Ratio

Jaisalmer - 807
Dholpur - 864
Alwar - 872
Sriganganagar - 878

123. The district with the highest urban child sex
ratio is-

[a] Bhilwara [b] Baran
[c] Bikaner [d] Churu

Sol. [C]

District Child Sex Ratio

1. Nagaur - 907
2. Bikaner - 906
3. Bhilwara - 904
4. Baran - 901
5. Churu - 899

124. Consider the following statements as per the
census 2011-

1. The literacy rate for rural area in Rajasthan
was 61.40 percent.

2. On percentage basis Jaipur is the most
urbanised district of Rajasthan.

Correct statement/s is/are-

[a] 1 only
[b] 2 only
[c] Neither 1 nor 2
[d] Both 1 and 2

Sol. [A]
Jaipur is the largest city in terms of popula-
tion (30.46 lakh) while Kota is the most ur-
banized district in terms of percentage
(60.31%).
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125.

[a] [b]
[c] [d]

Sol. [D]
%

6.39%
6.98%
7.10%
8.27%
8.30%

126.

[a] 49.16%, 59.11%

[b] 59.11%, 49.16%

[c] 45.06%, 51.80%

[d] 51.80%, 46.06%

Sol. [A]

127.

[a] [b]

[c] [d]

Sol. [C]

= 74.53%

= 63.79%

= 61.46%

128. 2021 

[a]  2 [b] 19 

[c] 14 [d] 21 

Sol. [A]

129.

[a] 1 2017 [b] 1 2016
[c] 6 2019 [d] 1 2017

Sol. [C]

1 2016 
2016 

1 2017 
2016 

1 2017 RERA rera.
rajasthan.gov.in 

125. The least urbanized district in Rajasthan on
the basis of percentage is-
[a] Pratapgarh [b] Banswara
[c] Jalore [d] Dungarpur

Sol. [D]
District Urban population %
Dungarpur 6.39%
Barmer 6.98%
Banswara 7.10%
Pratapgarh 8.27%
Jalore 8.30%

126. What is the percentage of males and females
migrating from rural to urban areas respec-
tively in Rajasthan?

[a] 49.16%, 59.11%

[b] 59.11%, 49.16%

[c] 45.06%, 51.80%

[d] 51.80%, 46.06%

Sol. [A]

127. Which city council has the highest percent-
age of slum dwellers in Rajasthan?
[a] Jahajpur [b] Kesrisinghpur
[c] Pilibanga [d] none of these

Sol. [C]

Pilibanga (Municipal Council) = 74.53:
Jahazpur (Municipal Council) = 63.79:
Kesrisinghpur (Municipal Council) = 61.46:

128. The campaign, 'Prashasan Sehro Ke Sang',
2021 was started on-

[a] 2nd October [b] 19th November
[c] 14th November [d] 21st May

Sol. [A]
129. Real Estate Regulatory Authority (RERA)

and Real Estate Appellate Tribunal were es-
tablished in Rajasthan on-
[a] 1st May 2017 [b] 1st May 2016
[c] 6 March 2019 [d] 1 June 2017

Sol. [C]
1 May 2016 - The Real Estate (Regulation and
Development) Act, 2016 partially imple-
mented by the Government of India.
May 1, 2017 - All the provisions of the Real
Estate (Regulation and Development) Act,
2016 came into effect.
1 June 2017 - the web portal for RERA-rera.
rajasthan.gov.in was launched.
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130.

[a] 3 50,000

[b] 5 25,000 

[c] 5 50,000 

[d] 3 25,000 

Sol. [C]

131.

A. 1.

B. 2.

C. 3.

D. 4.
A B C D A B C D

[a] 3 4 2 1 [b] 3 4 1 2
[c] 4 3 1 2 [d] 4 1 3 2

Sol. [D]

•

•

•

•

132. 5

1.

2.

[a] 1 [b] 2

[c] 1 2 [d] 1 2
Sol. [A]

• 5

• 8

• (7 ) 

130.  To how many street vendors, How much in-
terest-free loan is being provided respectively
under the Indira Gandhi Urban Credit Card
Scheme?
[a] Rs 3 lakh, Maxium Rs 50,000.
[b] Rs 5 lakh, Maxium Rs 25,000.
[c] Rs 5 lakh, Maxium Rs 50,000.
[d] Rs 3 lakh, Maxium Rs 25,000.

Sol. [C]
131. Match the following pairs-

Index Publisher
A. Energy Transition 1. Institute for

Index economics & peace
B. Global Peace Index 2. Sustainable

Development
solution network

C. Human Development 3. United Nations
Index Development

Program
D. Global Happiness 4. World Economic

Index Forum
A B C D A B C D

[a] 3 4 2 1 [b] 3 4 1 2
[c] 4 3 1 2 [d] 4 1 3 2

Sol. [D]
• Energy Transition Index - World Economic

Forum
• Global Peace Index - Institute for

Economics and Peace
• Human Development Index - United

Nations Development Program
• Global Happiness Index - Sustainable

Development Solutions Network
132. With reference to the 5th State Food Security

Index, consider the following statements-
1. It was published by the Food Safety and

Standards Authority of India.
2. Kerala got top and Rajasthan got last

position.
Which of the above statement(s) is/are correct-
[a] only 1 [b] only 2
[c] both 1 and 2 [d] neither 1 nor 2

Sol. [A]
• The 5th State Food Safety Index was

published by the Food Safety and
Standards Authority of India.

• Kerala topped and Rajasthan got 8th
position.

• It was published on World Food Safety
Day (June 7).
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133. DRDO 

1.

2. 6000 

[a] 1 [b] 2

[c] 1 2 [d] 1 2
Sol. [A]

DRDO 

• 600 

•

134.

1.

2.

[a] 1 [b] 2

[c] 1 2 [d] 1 2
Sol. [A]

( )

135.

[a]

[b]

[c]

[d] 2020 
Sol. [C]

29 
28

2020 

2023 

133. With reference to the indigenously
developed Heavy Weight Torpedo by DRDO,
consider the following statements-

1. This state-of-the-art weapon has been
developed to counter underwater threats.

2. It operates up to a depth of 6000 meters.

Which of the above statement(s) is/are correct-
[a] only 1 [b] only 2
[c] both 1 and 2 [d] neither 1 nor 2

Sol. [A]
The indigenous Heavy Weight Torpedo has
been developed by the DRDO to counter
underwater threats.
• It operates at a depth of up to 600 metres.
• It is named Varunastra after the name of

the god Varuna.
134. With reference to Sahitya Akademi Bal

Puraskar, consider the following statements-
1. Award was given for Suryanath Singh’s

Kotuk app in Hindi language.
2. Sudha Murthy was awarded for ‘Tabra Ri

Duniya’ for Rajasthani language.
Which of the above statement(s) is/are correct-
[a] only 1 [b] only 2
[c] both 1 and 2 [d] neither 1 nor 2

Sol. [A]
Sahitya Akademi Children’s Award
Suryanath Singh was given the Sahitya
Akademi Bal Puraskar for the Kotuk App
(story collection) in Hindi language.
Kiran Badal was given the Sahitya Akademi
Bal Puraskar for Tabran Ri Duniya (memoir)
in Rajasthani language.

135. Which one of the following statements is not
correct regarding the ‘Artemis Accord’?
[a] It is an agreement on outer space

cooperation.
[b] It is a non-binding agreement.
[c] India is its founding member.
[d] It was launched in 2020.

Sol. [C]
The Artemis Accords is an agreement on outer
space cooperation between 29 members (28
countries and one territory).
It has started on October 2020.
This is a non binding agreement.
India has joined it in July 2023.
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136.

[a] [b]

[c] [d]
Sol. [A]

137.

[a]
[b]
[c]
[d]

Sol. [B]

138.

A. 1.

B. 2.

C. 3.

D. 4.

A B C D A B C D
[a] 3 4 2 1 [b] 4 3 1 2
[c] 3 4 1 2 [d] 4 1 3 2

Sol. [C]

14 
2023 

•

•

•

•

136. Where was India’s largest private rail coach
factory inaugurated?
[a] Hyderabad [b] Agra
[c] Ajmer [d] Kolkata

Sol. [A]
India’s largest private rail coach factory was
inaugurated in Kondakal village (Rangareddy
district) Hyderabad.

137. Where was the Rajasthan Kisan Mahotsav
organized?
[a] Paota, Jodhpur
[b] Sitapura, Jaipur
[c] Ramnagar, Udaipur
[d] Gandhinagar, Kota

Sol. [B]
Rajasthan Kisan Mahotsav was organized in
Sitapura, Jaipur.

138. Match the following pairs-

Prize Publisher

A. Kanhaiyalal Sethia 1. Language
prize Category

B. Komal Kothari 2. Prose Category
prize

C. Sitaram Lalas 3. Category of Verse
prize

D. Vijaydan Detha 4. Folk Literature/
prize Art Category
A B C D A B C D

[a] 3 4 2 1 [b] 4 3 1 2

[c] 3 4 1 2 [d] 4 1 3 2

Sol. [C]

The Rajasthan Sahitya Protsahan Puraskar was
started on June 14, 2023.

Prize Category

• Kanhaiyalal Sethia - Category of Posts

prize

• Komal Kothari prize- Folk Literature/Art
Category

• Sitaram Lalas prize- Language Category

• Vijaydan Detha prize- Prose Category

The nodal agency for these awards is the
Rajasthan Sahitya Akademi, Udaipur.
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139.

[a] IIT, [b] MNIT, 

[c] BITS, [d] IIM, 
Sol. [C]

• 25

• 62

• 66 IIT, 

• 97

140. 36

[a] [b]

[c] [d]
Sol. [C]

141.

[a] [b]

[c] [d]
Sol. [D]

19 2023 

142.

[a] [b]

[c] [d]
Sol. [D]

143.

[a] [b]

[c] [d]
Sol. [C]

AI, 

139. Which educational institution has been
ranked first in Rajasthan in the ranking
released by the National Institutional
Ranking Framework?

[a] IIT, Jodhpur [b] MNIT, Jaipur
[c] BITS, Pilani [d] IIM, Udaipur

Sol. [C]
Institutions of Rajasthan in the ranking
released by the National Institutional Ranking
Framework-
• 25th - BITS Pilani.
• 62nd - Malaviya National Institute of

Technology, Jaipur.
• 66th - IIT-Jodhpur.
• 97th - Banasthali Vidyapeeth.

140. Who among the following was conferred the
36th Vriksha Bandhu Award?
[a] Jagdish Mathur [b] Prem Singh Jha
[c] Yogendra Singh [d] Komal Jain

Sol. [C]
Yogendra Singh was given the 36th Vriksha
Bandhu Award.

141. Where is the Directorate of Handicrafts and
Handlooms being established?
[a] Jaipur [b] Bikaner
[c] Dungarpur [d] Jodhpur

Sol. [D]
On June 19, 2023, the Directorate of
Handicrafts and Handlooms was established
by the Rajasthan government in Jodhpur.

142. Which of the following states was given
organic certificate for Araku coffee and black
pepper?
[a] Rajasthan [b] Karnataka
[c] Kerala [d] Andhra Pradesh

Sol. [D]
Recently Andhra Pradesh has got organic
certificate for Araku coffee and black pepper
crops.

143. Between which two countries the Atlantic
Declaration was signed?
[a] India - America [b] America - France
[c] America - Britain [d] America - Canada

Sol. [C]
The Atlantic Declaration was adopted between
the America and the Britain to deal with the
current global challenges.
This includes issues such as biotechnology, AI,
quantum computers, inclusive development,
clean energy.
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144.

[a] [b]
[c] [d]

Sol. [C]
12

145.

[a] [b]
[c] [d]

Sol. [D]

146.

[a] [b]
[c] [d]

Sol. [C]

147.

[a] [b]

[c] [d]
Sol. [A]

148.

(a) (b)

(c) (d)
Sol. [B]

149.

[a] [b]
[c] [d]

Sol. [D]

144. With which country did India organize the
‘Ex Ekuverin War Exercise’?
[a] Sri Lanka [b] Morisas
[c] Maldives [d] Indonesia

Sol. [C]
India along with Maldives organized the 12th
edition of military exercise EKUVERIN in
Uttarakhand.

145. India won the Intercontinental Football Cup
by defeating which country?
[a] Qatar [b] Kuwait
[c] Iran [d] Lebanon

Sol. [D]
In the third edition of the Intercontinental
Cup, India defeated Lebanon to win the title
for the second time. It was organized in
Bhubaneswar.

146. By which organization was the state of the
art machine learning model prepared for
forecasting monsoon?
[a] IIT, Madras [b] IIT, Mumbai
[c] IIT, Delhi [d] IIT, Kanpur

Sol. [C]
IIT, Delhi has developed state of the art
machine learning model for forecasting
monsoon.

147. Where is the world’s largest temple of "Virat
Ramayana" being built?
[a] Bihar [b] Uttar Pradesh
[c] Rajasthan [d] Gujarat

Sol. [A]
World's largest temple 'Virat Ramayana' is
being built in Kaithwalia Bahuara village (East
Champaran), Bihar.

148. Where will captive breeding of lions be done
for the first time in the country?
(a) Sawai Madhopur (b) Bhopal
(c) Gwalior (d) Ranthambore

Sol. [B]
For the first time in the country, captive
breeding of lions will be done in Van Vihar,
Bhopal.

149. Who is the first Indian woman to win a
bronze medal in the Asian Fencing
Championship held at Buxi, China?
[a] Mirabai Chanu [b] Devki Mishra
[c] Shobha Kumari [d] Bhavani Devi

Sol. [D]
Bhavani Devi became the first Indian woman
fencer to win a bronze medal at the Asian
Fencing Championship held in Buxi, China.
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150.

1.

2. 5 

3.

[a] [b]

[c] [d]
Sol. [B]

• 3 

•

150. With reference to the Road Safety Task Force,
consider the following statements-
1. Its purpose is to curb road accidents.
2. Its tenure is 5 years.
3. Transport and Road Safety Department is

the nodal agency for this.
How many of the above statements are
correct-
[a] only one [b] only two
[c] all the above [d] none of these

Sol. [B]
Road Safety Task Force has been constituted
with the objective of curbing road accidents.
• Its tenure is 3 years.
• Nodal agency-Transport and Road Safety

Department.

DATE

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
C B A B C D B C B D D B B D C
16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
D B A A A B D D D C D C D B D
31 32 33 34 35 36 37 38 39 40 41 42 43 44 45
D C D B A C D C C A A A B B B
46 47 48 49 50 51 52 53 54 55 56 57 58 59 60
C D A B A D A A D A B D A A D
61 62 63 64 65 66 67 68 69 70 71 72 73 74 75
D B C C C D B A C B C A C B D
76 77 78 79 80 81 82 83 84 85 86 87 88 89 90
C C B C B C C C B B A D B D B
91 92 93 94 95 96 97 98 99 100 101 102 103 104 105
B B B B C C B A C C B C C D D

106 107 108 109 110 111 112 113 114 115 116 117 118 119 120
A B C B C A C D C C C C A A C

121 122 123 124 125 126 127 128 129 130 131 132 133 134 135
D C C A D A C A C C D A A A C

136 137 138 139 140 141 142 143 144 145 146 147 148 149 150
A B C C C D D C C D C A B D B
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